SITE FURNISHINGS

MODEL #1606-06 - BIKE RACK (138 LBS)

SPECIFICATIONS:

Galvanized steel single bike rack for areas with

limited space, or multi-use where space is limited.

MATERIAL.:

OUTSIDE FRAME: Formed with 2-3/8" O.D.
heavy-duty galvanized steel tube.

UPRIGHTS: Formed with 1-3/8" O.D.
heavy-duty galvanized steel tube.

BASE PLATE: 3/16" x 4" flat steel bar.
HARDWARE: Stainless steel.
FINISH: Galvanized or powder coated.

WARRANTY PERIOD: 10 years

FOR POWDER COAT COLORS SEE
BACK-INSIDE COVER OF
PATTERSON-WILLIAMS CATALOG

37-1/4"

N———

(Note: Bike rack may be anchored. Anchoring hardware not included.)

SCALE:

N.T.S.

SPECIFICATION/INSTALLATION INSTRUCTIONS

Patterson-Williams |EZE

08-21-09

EIGHT SPACE NEWPORT BIKE RACK

DRAWN BY: AMC

SITE FURNISHINGS REV.

A103112

MODEL 1606-06

SHEET:

10F2




SITE FURNISHINGS

INSTALLATION:

Install the end frames to the upright tire rack and the horizontal bar with 3/8" x
1-3/4" stainless steel ButtonHead bolts and 3/8" x 1" stainless steel barrel nuts.

(Note: Bike rack may be anchored. Anchoring hardware not included.)

Patterson-Williams

SITE FURNISHINGS

Component Description Qty
3/8"X1-3/4" SSBUTTONHEAD BOLT 6
3/8"X1" SS BARREL NUT 6

SCALE:

N.T.S. || SPECIFICATION/INSTALLATION INSTRUCTIONS

DATE:

06-21:09\ EIGHT SPACE NEWPORT BIKE RACK

DRAWN BY: AMC

REV..

A103112

SHEET:

o MODEL 1606-06






